a(6 @) (rad)
a(d cot(B))

_9100%_ el bl bl ° -
T r = !
e I d
- 1 Fo
0.95L : : : 0.05t 2
10 1 10 1

2 3 2 3
TPlpg)T (PCA t%obeamlinélf) TPlpoT (PCA t%obeamlinélf)

—=— /data2/legianni/pareto-opt/restart/CMSSW_14_0_5/src/MTV-plot/DQM_TT__original_PU

—— /data2/legianni/pareto-opt/train_area_forExtraParams/CMSSW_14_0_5/src/MTV-plot/DQM_TT__originalREDO

£ £ : :
3] &) L..... RS IR S
=X S i .
> - :
o o [THE R
o = T
5 :
E -
010\—1% b Gl L AR L L L
g f
x [
4 R
0.95— : : ' 0.95—
10 1 10 1

2 3
TPl[g)T (PCA f%)obeamlinép

a0 p,/p,)

B A O R

o10%r
S
[
1_— ----- P O
0.95L H H
1071 1

: 2 3
TPl[:g)T (PCA t%)obeamlin%)o



	Contents
	Page 1


